Math 2432 – 100
Spring 2013 – Test 1
NO electronic devices may be used during the test. Show all work in Blue Book. Please label work.
Answers without any work or explanation may receive only partial credit or no credit at all.
1. (1 pt). State the Fundamental Theorem of Calculus (both parts).

2. (2 pts each). Evaluate the following:
a. 
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h. 
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3. (1 pt). Express the integral as a limit of Riemann sums. Do NOT evaluate the limit: 
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4. (1 pt). Suppose 
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, find 
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5. (1 pt). Does Mn​ overestimate or underestimate the value of 
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? Explain.
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